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Solución del problema 4B de Septiembre 2000.

Problema 4B.-


1 2 3 0
2 5 0 0
3 0 0 2
0 0 2 7

 F2−2F1−−−−→


1 2 3 0
0 1 −6 0
3 0 0 2
0 0 2 7

 C2−2C1−−−−→


1 0 3 0
0 1 −6 0
3 −6 0 2
0 0 2 7

 F3−3F1−−−−→


1 0 3 0
0 1 −6 0
0 −6 −9 2
0 0 2 7


C3−3C1−−−−→


1 0 0 0
0 1 −6 0
0 −6 −9 2
0 0 2 7

 F3+6F2−−−−→ ()
C3+62−−−→


1 0 0 0
0 1 0 0
0 0 −45 2
0 0 2 7

 F4−2/45F3−−−−−−→


1 0 0 0
0 1 0 0
0 0 −45 2
0 0 0 +319/45


C4+2/45C3−−−−−−→


1 0 0 0
0 1 0 0
0 0 −45 0
0 0 0 +319/45


Aśı pues tenemos
I.P=3, I.Neg.=1, I.Nul=0,


